A ANEZAS

Hu: ST QITe P&

SR AR HE

- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
ANE A2 8,516,247 11,432,809 A2,916,562
= 69,300
& 201,000
= 84,880
[ 434,650
Al 7,726,417
A2 lxet A= 7,104,031 10,238,058 A3,134,027
= 201,000
= 84,880
= 400,000
Al 6,418,151
SN2 A8 2,187,210 6,199,127 A4,011,917
& 201,000
= 400,000
Al 1,586,210
asSEA2 A8 2,187,210 5,871,643 A3,684,433
& 201,000
[ 400,000
Al 1,586,210
201 el 65,856 0 65,856
01 AR 2t2IHl 56,396 0 56,39%
OSEAMT 2 AIRSE & BIE 28
33,216,0002 33,216
OdsSEMa TA2cIZZ20d 2
5,000,000 5,000
Ods=A22E S/W 7Y 6,160,000 6,160
OasSEAM2 HAAY OIMEX 12,019,700 12,020
03 gAr=4d| 9,460 0 9,460
OMSTHB N L J|E25H8 Al
9,460,000 9,460
401 AlZHIZL LY 1,314,000 5,871,643 24,557,643
& 201,000
T 400,000
Al 713,000
01 Al&Hl 1,314,000 5,857,000 A4,543,000
OdsEAHa AE 1,314,000,000& 1,314,000
& 201,000
[ 400,000
Al 713,000
405 KHakH =4 807,354 0 807,354
01 I ESFH S 807,354 0 807,354
OdsEMZ 2 B & =28+
777,772,270 777,773
Ozt Mer AMbi7e 8,768,100 8,769
OMgAY +& 20,812,000& 20,812
A2 N=ES 952,332 672,120 280,212
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SN NREN
HE: AP Qe 7E
|.

ol CHB IEEE (EEREED
o - — Al L=
SA B ER(S) - MRAE - BaS Of &r e HIDE
= 84,880
Al 867,452
S E 952,332 672,120 280,212
= 84,880
Al 867,452
201 &er=gHl 52,332 62,120 A9,788
01 AtR22ld| 52,332 62,120 A9,788
OEAMdelssS el 52,332,000 52,332
405 KHakH =4 900,000 610,000 290,000
= 84,880
Al 815,120
02 =M 900,000 610,000 290,000
OANEZA2 T2 900,000,000 900,000
= 84,880
Al 815,120
elgsd Ml 23t 1,029,068 922,623 106,445
A2EM2 24 643,720 503,720 140,000
201 LBt 1,190 1,190 0
1 AbR2eld 1,190 1,190 0
ONSTHB(ZYRD) SYTIIAY 22
70,0003 x5 »22 700
OXSTHZ(IE2DIURIS HAMARIY =
g 70,0002 x7H*13] 490
307 2Iz2told 602,530 502,530 100,000
05 2IZtAE S 602,530 502,530 100,000
OX2 A2 24| 602,530,000 602,530
401 AlZ2HIXL R 0HY 40,000 0 40,000
01 Al&H] 40,000 0 40,000
OXotE7sd 75687 A2 M2 2HE
40,000,000 40,000
MOtS OISEMS 28 385,348 378,903 6,445
307 212told 385,348 378,903 6,445
05 2IZtRE= 385,348 378,903 6,445
OMOIS0IsEM2 22 385,348,000 385,348
DAoL Hotet 0|8&E Xd 2,935,421 2,444,188 491,233
A & e 299,644 256,150 43,494
206 MH=H 61,053 63,599 A2,546
01 M=Hl 61,053 63,599 A2,546
OdZg & A=H 35,000& *50H 2102 1,750
ONdEsNZeIMEH(A2ESTS)
1,500, 0003 *79H 2= 10,500
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2A:
A &

&l

SA - HH SR (B) - MRAY - BAS il &t e imE=T
oMrgI=sE 74 3,420 *36001 x 12& 14,775
Ostl+ 7¢ 2,500 *602| B x84 A 1,200
OSt&EX 7 2,0002 4501 A *300 27,000
OXZANERN2ALE SZEHT 2
1,500& *7,6005+0.35 3,990
OZTAIE HFBT o1F)| 7
8,000% *6,5005*0.03 1,560
OEa=sH 7Y 39,6003 7 & 278
401 AlZHIZ20HH| 238,591 192,551 46,040
01 Al&Hl 238,591 192,551 46,040
OSLAM2 &3 e 174,959
—H22D] WA 109,438,000& 109,438
—AITURLIE X 38,791,000& 38,791
—2dg ¥ 2FHuH 26,730,000& 26,730
OHOIR= M2 2d e 1,101
—&ESES3A 1,101,000& 1,101
O=SRCAa 2Z e 10,000
-2tz a 4R 10,000, 000& 10,000
OBLAM2 & I 52,531
—Satg =B A 42,220,000 42,220
—dH2E SAE WA 4,345,000& 4,345
—SHEAABI| dH & HEECH0I0 WA
5,966,000 5,966
EAt2te 2,635,777 2,188,038 447,739
101 Q12| 128,119 114,736 13,383
04 JI2tNI22 RS2+ 128,119 114,736 13,383
Oktzd 2IFEX 212H| 128,119
—JIE= 972,000&*10E «12& 116,640
—AHEE 116,640,000 *12/1,000 1,400
—1EEE 116,640,000& x13/1,000 1,517
-0z 116,640,000& *45/1,000 5,249
—HLEE 116,640,000 *26.65/ 1,000 3,109
—LoIMIIQAEE 3,108,460 %65.5/1,000 204
201 2pt23HI 2,507,658 2,073,302 434,356
01 AtS2teltl 214,722 190,265 24,457
OJIda 22 =20l 7,000&«11H+05 7,315
OEXNEELY HAWAZZ I FAE4|
5,195,000 5,19
OHLHEHl |RAIE==H| 3,000, 0003 *6H 2 18,000
OAMEUA HEA IR SR
500, 0002 *6H 2~ 3,000
OGaTEANAE RXE4Hl 670,0003 *300 & 2,010
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SN ANRENT
B CAP QT2 1
Chol: HEBED BOHE O]

N5t BOIEH 0|28 T4 (o &2
SA - HH SR (B) - MRAY - BAS il &t e imE=T
OcM2ZelZg 08 A E4H|
1,141,670 128 13,701
OSN& USSAAE S 24|
2,888,900 *12& 34,667
OMa=ZEHAHI(THEAZ)  5,000&+530E+23] 5,300
OFSTEHAH|(ELY, 4= =2 ,62L,302)
800,000 *5H A 4,000
OB ALSHI (70 =AH2)
75,0003 700 2 +123] 6,300
O2gd, 2| M& & |FXE+H]
1,000,000 *2.4& 2,400
Odz=I,4s8| Mz 2 FX2=Hl
27,0003 *425RT 11,475
Og&Ea |l 800, 0002 64 A 4,800
OgAI| |XHI(EZY, B, 82Y)
700,000 *37H A 2,100
OXNSHAHEX =Xt 1,600, 0002 *301 2~ 4,800
OEIZ 4| 380,000 & *48CH*1/3 6,080
Obf2t =4t 1,000,000 *6IH 2 6,000
O#32Y FXbl 62,0002 *25001+1/3 5,167
O3271 /Al 7,000 *400RT 2,800
OxZalad & S AN 3,000& »2, 7004 8,100
O&2I| /Al 1,200,000 *4CH 4,800
OXxZ=s==22/H| 22,000,000& 22,000
Og3al=e|&x RAIEsHl 150,000 *73CH 10,950
OsE8+E 42| L& S |Al2teltl
19,000&*21CH* 123! 4,788
ORQIEX BHIAAE 2|
160,000 +7 .50 128 14,400
OXNSRAAZFYIY 2dl(a)
18,0003 108 A*8IH &~ 1,440
OXNSRAXAZAYIY 2Hl(TH)
21,0003 *108f A*8IH & 1,680
O0IBXE A0+ MEHN(BL, HOIR,52)
3,000& 644 192
OOIZNIE oI HEHI(BY, %012, =)
2,000& +6314 1,262
02 224l 2,292,936 1,883,037 409,899
Odz| 255,407
—-=¢ 8283 *5,340m 12 53,059
—&i= 8283 x1,700m « 123 16,892
=8 8283 *2,240m x12& 22,257
-4 923 *78,460kcal * 12 86,620
—MOt= 8283 *1,120m 122 11,129
—st2d 8283 3, 100m 123 30,802
—4as 92362, 768kcal *6E 34,648
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SN ANRENT
B CAP QT2 1
Chol: HEBED BOHE O]

x5t EOlE 0|28 X4 (el ®e)
- _ — Pl
S FE . ERA(SH) - NRAY - BHES S 2
Ol &b

SEEENY 32,833
—5Y 1,60021%4, 396 7,034
—4= 2,80021%2,500m 7,000
-z 2,80029/%3, 146 8,809
—By 1,4002! 4,085 5,677
—m0= 1,1004+1,503m 1,753
—st2y 80021 %3,200m 2,560
OAZAEAFPIE| 442
138, 0002 +77 A 122 11,592
OBAIIFIIZA & oHBR (8448
170, 00021 6CH 122 12,240
OFIItE Bl U442 29,319
—EY, MOIE 220,002 20412 +1. 1 5,808
—4z = 150, 0002200 A % 1221 1 3,960
—sizy 268, 00021122+ 1 3,533
—B0i2 358,000+ 122+1. 1 4,726
—By 676,001+ 1221 1 8,924
—4s 368,000 +62+1. 1 2,363
O&UBIIE 53 £4E(8X, DI
400,000 %470 21 1 1,760
OSTENAABAL HIIZA 242
62,0002 57H 2 310
O4F, 2FAH FIIFY 242(42, 22,3
EEETN) 2,626,000%! 2,626
OFMIIRB(IERI)
5, 14021%2, 075K+ 1221 %1 .1 140,785
OFII2B(AEL3)
8421208, 118Kkl 122 +1. 1 230,762
OMBIEE ABE 2,30021+3, 200122 88,320
OUSIINELA 242 (AT)
100, 00024 +17H 100
OCCTVYITH 2HAIBE  91,0002+80H A+ 122 8,736
OF A 727,152, 0002 727,152
OEAOIEHE 750,904,002 750,994
Olots SM23 24t 283,860 278,070
2 69,300
< 34,650
Al 179,910
S A 28 8s)) 283,860 278,070
2 69,300
< 34,650
Al 179,910
As oA 2% 10,000 0,000
LT 10,000 0,000
A2 | 10,000 10,000
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2A:

ANEEAMZ

g A0l H0ots SA2s 2435
Chel: Hols Al HA 0S| (ol @)
SA - F SR (EH) - NPAY - BYS 0l & o e DS
OM1sl EA2Z23te0te AL X1
10,000, 000& 10,000
AMRIENH SM23 220 29 75,860 63,470 12,390
201 Let2E| 68,660 56,270 12,390
01 AtR2eltl 68,660 56,270 12,390
OSYAM2 Z28 2 9,580
—EloI=A3El 50,000 »4 0K 2+« 152 3,000
—g0tE SUXE 70,0003 20 BH+152] 2,100
—=SMNwa 70,0003 x6EH *3H A *20H B+ 2,520
—S2UHE dAE 100,000& x4 & x2 800
—AIXI&eIH A 50,0003 x1Ex122 600
—NIESO0I&LIErS| ZOtST|
70,0002 1H +83] 560
OaZ2EN2 E20d 29 9,370
—At=s WA 70,000 x2J1 Bt 153 2,100
—Zot80l =8 ==ud
70,0003 20 B++102] 1,400
—2MJ| WA 70,0002 * 101 B++302] 2,100
—d0 AECIEE 50,000% 171 BH+363] 1,800
—T N F2USEY 300,000& %15 300
—SA2 € EH 300,000& *13] 300
—SH2 THZ LIS0l 70,0003 +204 EH43] 560
—Algt & SS245 YA
70,0003 *3E * 12 210
- M= 10,0002 *60IH 600
OSRzA2t T2 2 9,280
—d210] A= == 50,000& 202 1,000
—0{glol S&ua 70,0002 »82] 560
—x=5. 70 S0 AEC/E2E 50,000 %522 2,600
—0{glo| sg+d 50,000& *123 600
—S0tE w4 70,0002 »83] 560
—x=& WA LIE0I 70,0002 *83] 560
—&otete| oty S22 300,000& %12} 300
—C2:htd e 2ud 70,0003 %402 2,800
—Ci2=htd et=2ud uiibl
10,0002 »30 300
OBLEN2 220 29 8,160
—&<4 0t3tdi0l 300,000& *1H »62] 1,800
—0l0fJ| m& 50,0003 *»1H x223] 1,100
—g0 AE28Y 50,0003 *1H *x243] 1,200
—2ZX0| 4 50,0003 *1H +263] 1,300
—dl2EH HWEEH=I] 23D
300,000& *1E x12] 300
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SN NYEA
M3 AIBIO| BOICHs SA28 245t
el Mol Al HA DS

SA - HH SR (B) - MRAY - BAS il &t e imE=T
— 4202 = ==uwd 50,000% *1H x263] 1,300
—GXIE 2471 70,000 1«83 560
— L& SN2 50,0002 1H *123] 600
OHOIREM2 T2 29 7,900
—g0 AEc2d 50,0003 *1H +363] 1,800
—H0Ig sht 70,0002 *1E *103] 700
-8 0= 0t 50,0003 *1ZH 403 2,000
—221010] BE2 TAFE SS DX
70,0003 *1H *302] 2,100
—UE Ot Mk 6& 70,0003 12 %102 700
— SO M 300, 0003 x1H*23] 600
OstE2d M2 Z208 29 9,310
—0l0tD| w4 50,000& *123] 600
—AH SMXE s0tel 70,0003 *302! 2,100
—0elol SM23 2% 70,0002 *302] 2,100
~SAFE HOEAE 2Q ALY
70,000 +3H 210
- HHEZAH & A 10,0002 *7004 700
—0{2l0] st 225,000& 27| +83] 3,600
O30EEM2 T2 29 11,500
—Z0 AE2EE 50,0003 *20H Btx24 3] 2,400
—=£5 ALK 24 50,0003 *303] 1,500
- stEEd 50,0002 *302 1,500
-0 FXZ 100,000 24 3| 2,400
—30 FXZE M=zl 1,200,000& 1,200
—SAMXE L MUEEESE 70,000& *302] 2,100
—50tE 50,0003 8=l 400
OdsEAdat T2 2 3,560
-0 AE2EE 50,000 *201 Bt+ 103 1,000
— WA HHZSID| L 50,000& *102] 500
—AdlXlelHd 50,000& *103] 500
—Al E& 2H 70,0002 102 700
—SREst2H 70,0003 83| 560
—Hsgs £ 300,000& *13] 300
203 ¥R=&d| 3,000 3,000 0
03 AIBFXHRZ=EY| 3,000 3,000 0
OEAN&2Z AHLRFE 3,000,000 3,000
301 Yereaz 4,200 4,200 0
10 HALAHIZ &= 4,200 4,200 0
OXNDIIE S (MOLR4,5t242, B S2, 521,
B2 AS1) 350,000& 123 4,200
S3EAMZ OH2HAI2E AT AL 198,000 204,600 26,600
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2A:

ANEEAMZ

B A0l H0ots SN2t 243t
ool Mol Al £& 0S| (S &)
- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
= 69,300
= 34,650
Al 94,050
101 1Ay 132,000 138,596 A\6,596
= 46,200
= 23,100
Al 62,700
04 JIZtHI22UHSE = 132,000 138,596 26,596
OXtzd S2ZAIZE 3& 2124H| 132,000,000 132,000
= 46,200
= 23,100
Al 62,700
201 Ler2 | 66,000 66,004 Vavi!
= 23,100
= 11,550
Al 31,350
01 AR 22l 66,000 66,004 av!
OXted 2HAIZt HF 2HH| 66,000,000 66,000
= 23,100
= 11,550
Al 31,350
WSEE TE(ANETAZ) 248,200 103,200 145,000
wsFH X2 248,200 103,200 145,000
Stuuws K& 248,200 103,200 145,000
308 KXIHHSOIH 248,200 103,200 145,000
06 NEIIZUHEEES 248,200 103,200 145,000
OStIEAZ AE He 2 BA SEAY(PH
S S 8)u) 248,200,000 248,200
Y 2SZHI(ANE M) 880, 156 813,481 66,675
ey =gl 319,093 283,015 36,078
kal.) 311,093 275,615 35,478
101 12| 311,093 275,615 35,478
01 2= 311,093 275,615 35,478
Oxl2R+E 311,003
—52 9,796 »1H*28A| 2t 12 3,292
—6=2 8,312 * 1B 67 Al 2t* 122 73,512
72 7,457 A+ 138 *67 Al 2h* 122 77,941
—8= 6,682 *6 2 67 Al 2t 12 32,234
—93 5,903 * 1B 67 Al 2tx 123 53,003
—Jlsr= 7,457 A 2B +67 Al 2t x12E 11,991
—Jis8s 6,682 »4H 67 Al 2t 12 21,490
—Jls92 5,9033 62«67 Al 2t 122 28,911
—Jls10= 5,422 x2H+67 A 2t 12 8,719
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A NEENB
M SHSAAH(ANYTAD)
el ol | CERE)
SA B ER(S) - MRAE - BaS Of &r e HIDE
=gaa] 8,000 7,400 600
203 R4l 8,000 7,400 600
02 HIRERFab] 2,240 2,000 240
OZ 3 HR = 40,0002 x56& 2,240
04 FAEIER=AYI 5,760 5,400 360
OFNESHIFAYI
(350,000&+5,0008 x26% ) »12& 5,760
=& H| 561,063 530,466 30,597
22| 458,520 435,867 22,653
201 LBty 441,880 414,699 27,181
01 AtR2tcIbl 232,586 227,439 5,147
ORA=gI 22 67,200
— 2 Et=EH| 50,0002 x56E * 12 33,600
—= 50,0002 x56E » 12 33,600
ORI g e 6,6002 %1502 990
ORUALZAIAY FX2=H|
374,000 12 4,488
OTABSYAY SIoaM 2o
70,0003 118 %23] 1,540
OB=ZAM2UE FIH 120,000 x5 600
OkA2 SEMI &24| 1,000& 5,000 5,000
OoFJItde=s= 74,488,000 74,488
Otl27=8 29,560,000 29,560
ORFIDEIE S 1,370&+10,0000K 13,700
OPVCe Bt A S 3302 +10,0000H 3,300
Ozlasds Z2eE el 95,0002 20004 19,000
O=ADl Xtz 120,000 «8LH*12& 11,520
Osldses ZelH 324 12,0002 100H 1,200
02 E3=23Hl 209,294 187,260 22,034
oR¥Ee= 2503 8 215024123 3,600
OAotE g 800,000& 12 800
OJtAEE= 60,0002 *79H £ 420
OgZNEeg3(ANES)
500, 0003 *8IH A #22] 8,000
OBNMERES(XHE) 80,0002 *3CH 23] 480
OusS=&=E=s 6003 *23,421m x0.82x0.5 5,762
Ot A 550,000& «3C =122 19,800
OZDNEIINUANER(SLAS)
1,818,740 12| Hx123 21,825
OO0l S XY KORNET AHEZ (7014 )
661,100 73| &d*123 55,533
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A ANEZAS
A HH2IZHI(AE M)

ctel: D123l (el &)
SA - HH SR (B) - MRAY - BAS il &t e imE=T
OZ=DEIILAEZ (7T L)
742 5003 +73| < x 128 62,370
OMECTAHZ ZDEIINUARE
408, 1009+ 13| & <62 2,449
OUIE/IZZHI(BE, #Ha) RAE=H
506,99521 122 6,084
OUEKARHI(AM3H) SXE=HI
953,520 x12& 11,443
OMHS/W SXIZ224| 180,000& x12& 2,160
OQHY E T A B(ZEL AR
103, 4009 * 122 1,241
O A2 0ISXHY KORNET AE 2
661, 10021 15] & *62 3,967
O FAE24| 280,000& x12& 3,360
301 LEtEA3 16,640 21,168 24,528
12 JIEt2 43 16,640 21,168 24,528
OXJASALA 24 10,0002 * 162104 16,640
(]s] 80,640 72,000 8,640
202 0ddl 80,640 72,000 8,640
01 2LH LI 80,640 72,000 8,640
OYSRFAI 20 120,000 x56H x 128 80,640
AHEF S HI 21,903 22,599 A696
405 XHatE SHI 21,903 22,599 YANGI®§)
01 ML =SESFH=HI 21,903 22,599 YANGI®§)
OURsza =22 (=2) 6,345,600& 6,346
ogeal oxH(=2Y) 92,800& *2004 1,856
OYUIZIZHEH(HOIR) 5,250,000 *1CH 5,250
O&EXHZ A DVD(HDIR) 122,000 *3CH 366
OXtz & MIHE2Y) 8,085,000& 8,085
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